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bA 4 pole, o-yhase induction motm operatea from aJ

- supply whose frequency is 50 Hz. Calculate ||

(i) Synchronous speed '

. (i1) The speed of the rotor when the slip is 0.04 |

a (i11) The frequency of the rotor current when the slip is
0.03

% (iv) The frequency of the rotor current at standstill.

cA 4 pole, 230V, DC series motor, wave connected
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armature with 1254 conductor, with flux per pole of
22mWb, takes 50A for motoring. The Armature and
series field coil resistance are 0.3Q and 0.2Q respective.

lCalculate the speed and torque developed in watts.

OR

aDerive the EMF equation of a DC generator,
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IbExplain the two types of rotors of an induction motor.
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A 8 pole, DC shunt generator With lap connccted{ Ta 12
d

armature has field and armature resistance of 50Q an
0.1Q respectively, if thc generator supplies forty, 120V,
AOW lamps, calcu total armature current, th
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|With neat sketches explain,
| of synchronous generator,

construction of two t

bDerive the condition for which the

, : efficiency of
transformer is maximum,

0.8 lagging. Calculate:

1) Full load efficiency

1)) Load at maximum efficiency

11i) Maximum efficiency at unity power factor.
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¢|A IOK\VA transformer has iron loss of 450W and full load
copper loss of 650W. If the power factor of the load is
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a 3 phase induction motor

aExplain,t"};é“cﬂg);lcept of rotating magnetic field in case of 6
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| slots and 10 conducior per slot. The flux per pole be%ng
| 30mWb sinusoidally distributed. Find the phase and line
| voltages if the speed is 375 r.p.m.

bIA 16 pole,3 phase star connccied alternator with 144
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\c/Show that the armature torque is proportional to armature
| - in d.c motor.
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